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1 All possible words with or without meaning were formed using all the Ietters of the word EXAMINATION',
The probability that "M" appears at fourth position is
2 1 4 8
e af = [3)— 4y =
AT T ' By
Ans. (2]

Sol.  EXAMINATION

E-+1 sy ==t
212121
1a!
Kb n(E) =5
niEy 1
A2 PlE}=—="=—
g E =T
M1
[0 F
T=1
M2
12
2 I a cricket team consist of 15 players have 6 batsmen , 7 Ballers and 2 wicket keepers then the number
of ways in which cncket tzam formed with atieast 4 batsmen, 5 ballers and 1 wickst keeper
{1) 567 (2) 525 (3) 482 (4] 777
Ans.  {4)

Sol.  Case-l : Team consist 5 Batsman . & Bowlers
and 1 wickel keeper then number of ways.
="Csu 0o x 501 =B = 21 w 2 =252
Case - Il 4 Batsmen, 6 blowers and 1 wicket keeper
=fCex"Crx 01 =15 T u 2=210
Case-lll 4 Batsmen, 5 bowler and 2 wicket keepears
U0+ % TCs % Cr=15%21 = 1 =315
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3 Tangent drawn at a point P(2,2) 1o parabola y2 = 2x culs x-axis at paint O and normal drawn at point -

P{2.2] to parabola cul parabaoia again al point B then area of APQR is

25 (o
(1)25 2) = (3 — (4) 50
i 2 2
Ans.  (2)
Sol
P2
0
(=2,0)

A ¥ A{112)8
Equation of tangent at P(2.2)is T=0

2f =%+2
v =450, Q=20
Zany =1=1n =2

2 2

e s o
i 1 2

(jeordial-2

! 2 e
Areaol APOR=—(-2 0
2la -

2

1 1 25
= 5 (204821292 + 1(6-0)] =5 [6+4+9+6] = cq unit

4. Coeflicient af 2= in the expansion of (1 —x)"
(1) 1%Ce (2) 150G (3) 194 [4) 100G
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2 2
Area of APOR =% -2 0
&y
2
1 1 25 ’
= — (20048 2292+ 1 (6-0)] = = [6+4+9+6] == sq. unit.
2 2 2
4, Coefficient of x2% in the expansion of (1 —x)'"1x2 + x + 1)'%jg
(1) 10 Cpy 2} Css (3) ™ Cas
Ans.  (2)
Sol. > (1 =x)M{x? x4 PN
(1 —%)"0x2 + %+ 1001 —x)
(1 —x)" {1 —x}
(1 —x) ("MCH— '0C, X 2 4 OO 52
S G x
50, the coefficient of k258 ig "%9Cas
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5. The valus of lir2 - cosxveos2x| s
Ans. 1
Sol limz cosvonsax| ¢ (1" tom)

o

i |1 cosw/cos2x ) \
gr el |x* 2}
x
=E“I-' |1-cos" K[cosExI:_‘x_. +3)

x

w[1cos xeos2xf|[  ¥'42 |

% 111 cosw/rosox

_e_1n|1-cne2L2cosax-1|';| x4
| %

J\ 1+ cos xycos 2x |
-e*l:“u 2cos’ x+cos x) %42
* 1+ cosacos2s
i I 2
—(2cos' x—cos"x—1) x2 42
5 11 cosx/cos2x
_ il {2c0s” x + 1){cos” x -1 *E 42
x 1+ cosxyons2x
+1)sin” x 220
X 11 £OS RV COSEx
0 . SNy . 2,9
e 0 (Zoostx+ ) =25 — X 12
L3 1+ cosxvcos2x
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#f2im- ¢)= 234
7. The mean of 6 numbers is 6.5 and its variance i 1025 if 4 numbers are 2. 4, 5 and 7. then find the other
wo
{11an 211,12 {3) 8,12 #4e 1
Ans. (1)
Sol. Let two number x and y according to question
18+ x+y=39

% 4y=21 s O 1

_}%51_2%_(6.5]5
o x'_ws-j_:s.sf
= xF 4y = 221 )

soiving (1) and (2)
So,x=10ory=11

8. A continuous & differantiable function fix) is increasing in :' a_% and decreasing in :g_v |then x =7
(1) paint of local maxima (2) point of local minima
(3] paint of Inflection (4) Mone of these

Ans. (1)

Sol. Roughly gragh of fix} can be drawn as
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8 1t the roots of the quadralic equation x= + 3% x + 32 =0 are o and fI then the valus of

0¥ [el2-1) + 112-1)
(1) s0.3* (2) 51.3 {3) 52.3%* (4) 104.3%
Ans. (3
- bl
Sol. W4 yd= -a%x

skt 4 2V3x® 434307

= x* +4f3x* +3=0

> k% + B +9=3x"

= x"+3x*+0=0

= o = -0 -Bu*

= '® = —But - 3" =B - 3[-8-3a) = 27
Similarly |1==27
e |4 poe 2 )= (27F 26 + (27)F 26 = 52.( 27)F = 525

10. Ina AABG, T AB =5, #B = cos ' (3/5) and radius of circumcircle of triangle is 5 then the area of AABC &

(1)6+8Ja 2)344/3 [3) 2+843 {4) 64445

Ans. (1)
3
Sol cosB - c=sinB==, R=-5

_a*+c® b 3 a% 25 64 3
Zac & 2as5) 5

a*-39=6a —»a*-ba-39=0

2 8183
2

=343
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12. If the shorest distance between the lines K=ui+2]+&K+ali -2j+ 2], =R a>0and
T = 4=k = p{3i - 2) - 2}, = Ris 9, then the value of o is

(2 (24 (@8 445
Ans.  (3)

Sol.  Shortest distance =

{a, = a, )by xbs |
b~ by

[+ 93 + 23 < 3Ry T+ 5+ 44

> 9 7
| Jea+64+16 |
8o 4)416112)
= =9
| 12 !
Lu=6
13. if abc are mutually | unit vectors equally inclined 1o & + b + ¢ at an angle , find 36c0s? 26 .

Ans. 4

Now 8l4+D+6)=|a|a+b+E| cosh

1 .
= coshl =—= = cos2d = 2c08® (-1

3

1 4 ! =
= costl = == cos20 = i d6cos® 20 =4
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14.

15.

duventures Limited | Toll-Fn

ar (1=22w)
It z and v are complex number such that izw| - 1, argiz) — arg(w) = —— . Find the arg| = B
2 14+ 3z
m X 2 == (@) 37 (437
4 4 4
4)
1
Latz=rg" Gm=-€
r
Sl L
i 1 1 Y\
: 3
Tr:eargl————i == —
2 2 4
[dnx-€*, x50
Hfx) =1 a+[-x] ; 0<x<1 iscontinuous and differentiable function then find the value of a < b.
| 2%-b @ x=1

(where [-]is GIF)
(03.00)
Since fix) 1= continuous at x = 0

So lim f{x) = Him f{x] ={0)
3l -l
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16. WA =[aj:wherea =1 =X  |i=j=1  andfix)

|2x+1 otherwize

local minimum value of f{x) 1s:

x| @ Selectetathmerttoches % | M Inbox (B78) - sakunthios

= det {A]. then the sum of local maximum and

20 L =2l &8 88
I e {2} == {3) == ==
T 27 a7 Ny
Ans.  (4)
1 —x 2%+
Sol. A -} 1 =X = A 2 (2] + 2 [2xa1) = (Bl P-w2 - n2
2x+1 -2 1
i) = 45" 45 —4x
Fix) = 1252 —Bx —4
= 4(3x2 2x 1}
=d{x—1) (3% =1}
. = +
—
| 1
k]
= I{x] 15 maximum at « = — and minimum atx = 1
. maximum valua = o and minimum value =—4
20 88
sum = =2 —4=— >
17. The coetficient of &* b* i in {ab + be + ac)® is:
(1) 80 (2} 45 (340 (4] 90

Ans. (1)

i X "
Sol (i +boracp= Y —om(abF(ocficaf
- _plgir!
=6

=N L 2P e
= plgin
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18. If an invertible function f{x) is defined as f[x} = 3x— 2. gix} is also an invertible function such that

i “lix)) =% — 2 then gix} is
x-B8 x+8 -3 X433
 — —_

1 2 3 (3) 3 4 s
Ans. (2]
Sol. Fllg ) =x—2

fix—2) =g-'{x)

Bx—2) -2 =g'ix)

A —8=g'ix)

glix)=3x-8
or x=3g(x] -8

oix) = et

: 3
19. _||r||;\.":=\1-.x}dx=?

n

(1) T+ in2 {2) 2tn2 (3 E—]--r\Z
Ans.  (4)
Sol.  fix} = '”[‘“_3‘ --'\"1*}(] x = [~ 1, 1]is an even function

= 1-2 [inlT=x% 447 x ix

o

Pul x = cog2i) = dx = — 28in20 dil

- coe2ih = 2eos® — 1 =1 —2ain®

1=—4 |[n lsinu-wsn}.-’i';]sin 20 dih

rhsnn s oneatfs Hanon an
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20. The probability of selecting integers a & [-5.30] , such that »° + 2{a+d)x — Sa+ 64 > O forall X =Ris:

45} % 12 % 3 g ) —:;
Ans. (3]
Sol, x%4 2(asd)x—(ba—64) =0

D=0

4 (a+d) 44 (Ba—64) < 0
= fa+df + (5a—-64) <0
= 8%+ 13a—-48=<0

g —1324169 192

2
Sa, ae[-183]
Total integers are 20 .. Probability = % = %

21. It [e* Mdx—10 @, then the value of ' is (whers [+ is GIF)

(1) 9+rn2 (2) 10+4n2 (3) 10 49
Ans. (2]
Sol, Leta=104+K 0z <1

[edn=108-9
fetldx [edx=10e 10+ 1= "[ede=1 = felldx =1

Bh=1.=%
K=rn2

s0,a=10+/n2
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22.

Ans.

Sal.

it AB=|AxH hen |a s

(VAZIBT AR 2] VAZAB? V2AB (3 AZ+B2.2AB (4 VAZ (B2 J2AB
)

AB =A< = cosh - sin = tani = 1

= A? 4+ B — 2ABcos |

= A2+ B2 - 2AB

— |A-BRVAT B J2AB
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